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To determine the absolute minima and maxima, search for all of the critical points
and determine the function's values at those points.

If the function has multiple local minima, one of them is guaranteed to be the
absolute minimum.

It is not guaranteed that the function has an absolute maxima or minima.

None of the above
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Suppose we want to build a fence with perimeter 100, which consists of a
semicircle on top of a rectangle (see figure), in order to maximize the area

enclosed. Which is the correct equation which gives the length y in terms of
the width x?
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True or false: Let's say we know how to differentiate two functions g and h. To
differentiate the function f{x) = g{x)*h(x), that is g(x) raised to the h(x), we

should apply the power rule with the chain rule.
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Consider the function f{x) = In(x*2), the natural logarithm of x squared,
defined for all numbers except x = 0. Which of the following is correct?

fis increasing and concave up on x > O, f is decreasing and concave down on x < 0

f is decreasing and concave up on x > O, f is increasing and concave down on x <0

f is increasing and concave down on x > 0, f is decreasing and concave down on x
<0

f is not differentiable for x < 0
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Imagine a cube which is expanding. Suppose the length of the cube as a

q ) function of time is given by x(t) and the volume as a function of time is V(t).
Which of the following gives the rate of expansion of the volume? (Also, see
additional question)
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